	96 
	17 x 5


	85
	21 x 6

	126
	Which is larger?

75% or 4/5
	4/5
	114 ( 3

	38


	Which is smaller?

35% or 1/3
	1/3
	1/4  of 300

	75
	20% of 65
	13
	Increase 80 by 25%

	100
	Decrease 30 by 20%
	24
	Equivalent to 4/5

	80%
	30 out of 40 as a %
	75%
	4(2 + 8)


	40
	2n + 3 =4

What is n ?
	0.5
	36 x 5

	180
	92 x 4
	368
	Area of a triangle base 8cm height 10cm

	40


	7(5 – 3)
	14
	Volume of a matchbox; 3cm by 5cm by 6cm.

	90
	3n - 5 =4

What is n ?
	3
	Volume of a cube side  4cm.

	64
	1 toffee, 3 chews. What proportion are toffee?
	1/4
	2 teas cost 54p, what do 5 cost ?

	135
	4 dozen 

add 2
	50
	Surface area of a cube side  4cm
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